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Chemistry 12 Unit 3 - Solubility of Jonic Substances
v G
14. A student has ooo‘ow mL of a 0.30 M solution of HNO3, How much water must she add
in order to make it a 0.15 M solution? (Be careful that you answer the question!)
C,
/uvhéﬂa,@?@m@pf&, v
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Answer O.o L

m...w,mwﬁw [0V mm Ol = (wﬁk«w(@
15. I£25.0 mL of 0.90 M HCl is added to 125.0 mL of water, what is the final [HCI]?

mw.w = G, = (o Yomy(zs )

Q,y%\g

Answer

16. Calculate the [Fe®*] in a 0.25 M solution of Fex(SO4)3 ?
[ 5O - e T o -
Feabony, — 27> + 380,

SRR AT 2{oasm
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= . %0/ Answer G . SeMn

17. Calculate the [Na*] in 2 0.55 M solution of sodium acetate. (Write the proper formula
for sodium acetate first.) Z a PKW Ceve
Answer S5

18. Calculate the [Na'] in a 0.55 M solution of sodium carbonate. (Write the proper
formula for sodium carbonate first.) P,
Nas e,

Answer

19. Calculate the [Na'l in a 0.55 M solution of sodium phosphate. (Write the proper
formula for sodium phosphate first) Z ay, o0

Answer m o N A
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Chemistry 12 Unit 3 - Solubility of lonic Substances

20. 300 mL of 0.500 M NaCl is mixed with 400 mL of 0.200 M HCI. Calculate the final
total [CI'].

Ca = (0200m) (hoons)
T e,
Answer O .32 K an
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21. 200 mL of 0.500 M NaCl is mixed with 300 mL of 0.200 M CaCl,. Calculate the
final total [CI].

. , L
= A/ & Sco %bu M‘Nﬁﬁ ?\.m\V mﬁs = ﬂ [oF M%QP,.?)(V m o Ror ] s:x»xw
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22.  An aqueous solution of Pb(NO3), is mixed with an aqueous solution of KBr and a
precipitate forms.

a) Write a balanced formula equation for this reaction. (Include all subscripts.)
Plo (NDs) s HEBr, —> PoBrs + 2 kno,
st [E35) i o
b) Write a balanced total ionic equation for this reaction. (Inciude all subscripis.)

Pl oW L 2R 28 ~2 PlbBis, + 26, "

IZE
¥

¢) Write a balanced net ionic equation for this reaction. (Include all subscripts.) 2. N cad

Ploxr, +
.

P . \\ f el N
,sz..w %\wﬁﬁ\??,&

Uit 3 Review Sheet Pnage 4



